J' é_ 7

| | 2 | 3 | 4 | 3 6 ] 7 CHANGES
DRAWING No. | |RELEASED 9-3-82
400451 Eco 1325
2|06 was 18v
JR 13.5.82
A
BED CI TOC4 AND C2I'To C24 IN
SILICONE RUBBER (900004)
3
J3
[]
° o o @ o
]
- |
'~
1
=
H
- MAKE ALL TEST POINT LOOPS FROM ™
22SWG BTC WIRE 540002 cal + =
g
T~ _ &
PCB 4i0160-0A
Wy i + =
4 orr FUSE HOLDER 92012G 6 @
C 2 orr FUSE (4AS/B) 920128~ F! Fe __ 7
2 orr FUSE (2A S/B) 920127 — F3, F4 I} |
z
ca2 + —
z
—T1 . 8
3oFF SCREW M3X 8 mm POZIPAN 611016 ~ NOTE: use HEATSINK COMPOUND (900003) BETWEEN &
— Ml,MZfQ“L FIXINGS {Son NUT M3 FULL HEX 615002 MATING SURFACES OF @4, MI-M2,
30rf WASHER M3 SHAKEPROOF 613005 MG- M9 AND THE RESPECTIVE HEATSINKS -
ca3 +— A TORQUE OF O-S5Nm SHOULD BE APPLIED
TO TIGHTEN COMPONENT FIXINGS. =
i
- c24 + 3
,~/
3 off HEATSINK (T0220x2) 920090
HEATSINK— PCB 30rF SCREW M3x8mm POZIPAN GlICIG &
D FIXING {30» NUT M3 FULL HEX 615002
3orr WASHER M3 SHAKEPROOF GI300S
/ \ [
/ TEST POINT TERMINAL
/ 620007 G oFF. \
20k SCREW M3xBmm POZIPAN GIIOIC 4 orr HEATSINK (TD220) 920089
20rf NUT M3 FULL HEX 615002 Aot SCREW M3x 8 POZIPAN 11016 7
20 WASHER M3 SHAKEPROOF GI300S 4orr NUT M3 FULL HEX 615002 ‘
Aoff WASHER M3 SHAKEPROOF GI13005. [
it
: datron | ¢
ELECTRONICS
LIMITED
NORWIC!
DRAWN DATE DIMENSIONS IN TOLERANCES MATERIAL ASSY DRG & | s TITLE DRAWING No. i
DECIMAL TO 2 PLACES # "1mm 45|
3.382 MILLIMETRES DECIMAL TO 1 PLACE +° 2mm PARTS LIST |
CHECKED  |DATE SCALE WHOLE DIMENSIONS 3 -4mm e b 4000. IN-GUARD 40045
ANGULAR + %0 CIRCUIT DIAGR 3
njz 2. 2. 8 . FINISH POWER SUPPLY PCB. ASSY.
210 CHECK PROCEDURE 460451
APP/ DATE UNLESS OTHERWISE STATED
2 %“ 17- 3- B2 NOT TO BE SCALED FIRST ANGLE PROJECTION CHECK LIST 470451 SHEET | OF § [

Enw.

a951MT

T et o R L e .



/8

| | 2 | 3 | 4 | 5 6 ] 7 iss CHANGES
DRAWING No | |RELEASED 9.3 .82
43045] IN GUARD COMMON 2 SUPPLIES AR
JR (3.5.82
P9
F3 2a
M2 T +15v (2
l Vicmisce Ja-z2
GND
cio
471nF
{-——4;
MCT8 MO8 CT
ca L o= N M 18VR 5 va-ig
1000pF T 22pt GND.
a5y 25 co
]’ 22pF
Iev
MAINS —@) 5 s
TRANSFORMER e
| pre 8uH 34 STAR POINT X
; ¢ GREY e Y _ T OV(Z)—O J4-23
1
i 18v
i 665mA
i . LG |
| - H 3A To J2s
i || Seremm s wrire J2-4 = Momzeg (293
| s 430440
1
i 18v )
i €3
i GG5mA il [
: = 100 ca | Cice
I L4 i L o T ev
M ezer i o M3 =IOV
j e MCTS MOBCT|
; {——ﬁ.
i C
i 5 L
1 A4TnF #
' | N "o -1ov(2) T
i McToISCT McTBOSCP =L
l ci
; T s2uF P8
N v
PRIMARIES -
SKHOWN ON j f sy () O J4-l6
INTERCONNECTION PCB
430439 ;
i
! RI
i Ik
) S
| . CURRENT OPTION SUPPLY
| : +
i T azvﬁ’)(z) Ji-2 TO POWER SUPPLY / CURRENT
| HEATSINK 430441
| R8 A, c2
: 2k7 3300pF
: J2-2 4/1"‘26‘ o g
ai TAR
| 2 ——-o— e : e e T — ouite)
His J 4-24
| 10J25
" ;5;‘ [ MOTHER PCB
i 5 i + {e]
! 02 b5 ; Lovzz) 425 oA
i L |
i 5 H 6A |
i BLACK/WHITE Jz:i b ‘
¢ 13
¢
| Isy D
|
i 334 . R7 Cl
| 2k7 3300pF
| L3 2sv
| BLUE Jz-3 4#H GA
l ?\_’ Y Y Y s
|
|
|
i Fl TPI
44
: I 22 OJi-3 TO POWER SUPPLY/ CURRENT
| HEATSINK 430448
|
' datron
| ' |
Tx GUARD SCREEN 28 ., T0J21 ELECTRONICS
CONT. ON SHT 2. =— A ommeemeo GY__ 5 ys-27 MOTHER PCB LIMITED
430440 " NORWICH
DRAWN DATE 2 DIMENSIONS IN TS 02 PLACES +-1 MATERIAL ASSY DRG & | A TITLE DRAWING No
3.3.82. | wmiLumeTRES DECIMAL TO 1 PLACE + - 2omm | I
3 +- 2mm PARTS LIST |
WHOLE DIMENSIONS  + 4mm
2“:(3250‘6“ DA9T53- 32 SCALE ANGULAR + %0 - CIRCUIT DIAGRAM 430451 A?gOGUPAOf:VDER SUPPLY 43045|
- A S A CHECK PROCEDURE 460451
APPR. DATE UNLESS OTHERWISE STATED
3B M )7- 3 - 22| NOT TO BE SCALED FIRST ANGLE PROJECTION CHECK LIST 470451 sHEET | OF 2

| 4951



2/7

6 7 1SS CHANGES
s [ 2 [ 3 I 4 [ 5 L 1 e
DRAWINC No ECO 1325
2|06 was 18 v
430451 JR 13 5.82
REFERENCE DIVIDER COMMON 4 SUPPLIES
R3 TP6
Q4 3r3
+36v (4
1:2;\ —AAN . @6 e
r l De
R2 2 Cis 15V
7 : IS/k < InF 1-3W
Q3 @2 1%
TCRSI3 o3 o BC337 +18v(4) Ja-8
a K JS3m ¥
MAINS R4
TRANSFORMER 6k8
| J3-3 +
e —=2 - Ro 1 = Ci4
! foooar O WM, o2
v
; a7v 63»'/) MPSLOI T~ 5
| 260mA
1 )
i ) DS <
HIE e 927 x szvsscis S ﬁjo 7 & +Cle
! i 1% ZN4s8 |F s
| { 2vas T 3sv ]
; ‘ | T Ov(a) O 94 |
: STAR POINT > N;rgr:fé i
i | - ov(a) | 430440
i O J4-12
! g i
i Lio |
! POWER SUPPLY }
1 COMMON MODE ;
! CHOKE |
i |
E § ?
s Gt :
I + c22 !
H - 1000uF
; VIOLET H5S T 35y 4 i
ils EN ! |
It | o
! ,I ¢ gy i ki .
JC 290mA | | !
il | | |
; l% J3-6 | i i+ ci3 |
:fl 8RoWN i Ciz _L # 22 oF !
i 30 | ATnF T } 28v P4 i ;
g | GND. -15v (4 i
{ l | W M7 an : I Bes w10 I
i M72ISCT w
i
§
PRIMARIES !
SHOWN ON ! |
INTERCONNECTION PCB i {
430439 i |
: IN GUARD COMMON 3 SUPPLIES |
I |
!
| ‘ w Mo T +3v(3) O J4-2 k
i ) 78 MO8 CT
| CND {
| C20 1 }
i L7 4TaF ==
I + CI9 |
i J3-3 BuH 34 s 220F
GREEN O Y T e |
! 24 + coa 'Y | lév ‘
i = i
| 1000wF | | \
i v 25v G |
i 150m A T !
| 8L83 ;" {
| " JuH 34 STAR POINT ov (3 |
! puace U372 s : 8 5a | |
| S —
i zs TO J22
| OTHER PCB
i [ 430440
[15% J
| 1SOmA + ‘
! BLBSA (
1 r 3wH
| areen V31 w2 R {
= wool
: ce3 !
10000 F
| - 25v/u
9
ci 22uF
Tx CUARD SCREEN | 47], = ,s’uy TPI0
CONT. FROM SHT. 1 T ‘
and -
i 1 2 5 4s) | datron
MCT9 MOBCT l ELECTRONICS
) LIMITED
| NORWICH
DRAWN DATE DIMENSIONS IN —hm“;:““: e T MATERIAL ASSY DRG & ] TITLE DRAWING No.
M. + 1mm
. 2.3.92.| miLUMETRES DECIMACTO B ACEN: ams PARTS LIST 4000 POWER SUPPLY
CHECKED DATE SCALE AHGUCAR Ty o St CIRCUIT DIAGRAM 430451 IN-GUARD A43045]
Rk coseAN | 9-3-8632 - IR CHECK PROCEDURE 46045 |
APPR. DATE UNLESS OTHERWISE STATED y 5
B Yame | 19- 5 -82|noT 10 BE SCALED [ FIRST ANGLE PROJECTION SHECK'LIST § 470451 SHEETH210F2. 00 o




206

| | 2 | 3 4 5
YIRS e I ] | [3 [ 7 CHANGES
z z z ECO 15/8 RELEASED 16.4.8
400449 & & ¢ 6 |R147 AND Ru48
ADDED ECO 1331
e s aeee @ e
e 1] o
ALL RELAY LEADS MADE FROM ECOBZD Ceieie. z%i%
| 30mm 7/-2 PIFE INSULATED (WHITE) wIRE 7 Dl.2.1ZAND 13 WER
SLEEVE ALL WIRE CONNECTIONS_ CUT 4 STRIP EACH END Smm BEFORE :523‘;’?5%‘%
4 20mm BEFORE SOLDERING- USING SLEEVING + SOLDERING. JRA 1S-5.83
SLEEVE 59000I (x¥2)
- & A /
A .= yly
o Pl
7 | 20mm g gqu
To PIN 8 sm———2C——_ 2= To PIN 5
8 D0 mm HEATSINK (TO202 HORIZ) 920105 2oFr ECO. 1354 -'igle 'é‘az
= SCREW M3 X8 mm POZI-PAN GI10IG 208
9 |100mm FULCISES': L€ tyolPe WASHER M3 SHAKEPROOF GI3005 20¢F Res “a’fsﬁg'; o
- . R_L3 AFTER 'FLOW-SOLDERING' BOARD. NUT M3 HEX FULL &ISOO2 20 lss/
B Cc4/cS DELETED.
To PIN 4 = (CFr—=c——o=——To PIN I c14 C73 ADDED.
D7/D8 DELETED
/ HEATSINK (TO 220 VERT) 920081 4orr / R14
> PCB 410203-4A SCREW M3 X8 mm POZI-PAN. GI101G  4orr 4 ;
WIRE LINK (X20m~) 540002 Y, ' . WASHER M3 FLAT PLAIN. 613007 4 OFF // on atoseacoe4.
|| WASHER M3 SHAKEPROOF 613005 4osr J/ SOLDER TERMINA L Ri45 RI4G MOUNTED
(VIOLET) CIRCUIT BOARD EJECTOR FUSE HOLDER (FI,F24F3) 920126  NUT M3 HEX FULL 615002 4orr ! IS5cFF 620003 (47 a3 weke Fons
2 orr.  ©30123. / s
/ 23.8.82
/ MOUNT R23,R 4 RIS ON p N
/ R AN azﬁoi‘_'“éféog:s A o \ . REMOVE 5 PINS SHOWN THUS < e oA Ee s
/ Y EKG. B-4-83. B3
\ N Coat....
N \ 7 3
1 NH 1 ' \
O i N O / / ©®
\ 7 e : 410
TPI TP2 TP3 \ . 4 N
N 2 —E}— —feoh—
B R3g R49 | R75 | A —el— 33 |
%[ I%L I@ e ®>°
R80 —57h— —E&3—
= /
; —m— e L8 Ls ol
R38
R39 fras 8
R40 R82
—=z 6
(RAI] o — 4 ®
R83 O] —{ RIO4 |— H w13
€ L
e iy LICN p— =) css x
. U R84 | RIS < Q41 29 sw (3 TPIO
Ra4 O{;_',O —{ RIO7 }— H
R4s —{ RICB — GBS cee
R46 (ca0 ) RI09 |— | "kL2 jl ' <o
B | R85 | Rug }— [} H_ | ®
—24— R86 CZaa)
: 2] @3 ‘:: 2 [{O 59
) N - - — § RL3
b 3 1
B — - el
| / ]
C 1 T efpz7 Q43 / — iz —
I i e @
F (e PN s 10
ce8 ¥(ced
—JRr137 —
—{Ri3g|—
—{R39 |—
—{Ri4o
%
+
P c
§ Mio ‘ i
RBS
PIN 3 PIN 2 Ml <|la -~
~ o CGI i
2 o
D /
/ / J / ;
/ / CUT TRACK\AT POSITION MARKED ¥ | NE)(‘CL? ) /
SLEEVE LEADS OF RI45/RI4G / CUT TRACK BETWEEN C721C73. UNDERSIDE ! // N\
BEFORE SOLDERING. USE PTFE / TOP S!D& OF PCB LINKX CAPS / 7 / f \
T S oo £ | et / / / ;
& ! / ) J .
Heatl . e B AR ST / / e L
OIN INAL
MOUNT DI5 + DIG ON MOUNTING LASCBING C?RD P e TEST POINT LOOPS MADE FROM WIRE LEAD BETWEEN SOLDER’ RELAY BRACKET 459112  |off
PAD ©I8004 Zor i 000 . 22 SWG BTC WIRE 540002 TERMINALS A 1K, BiC Erc.. RELAY NUT 3-48 UNC 615005 lore
POSITIONS 7/-2 PIFE COVERED WIRE (WHITE) SCREW M3 x8mm POZI-PAN GIIOIG |orr
540008 SLEEVE TERMINATIONS WASHER M3 SHAKEPROOF GL3OOS |eofr
WITH SLEEVE 59000| (x%3) NUT M3 HEX FULL GI5002 lofF
— FIT RI47 ~ RI46 WIRE LENGTH WASHER M2'5 SHAKEPROOF 613014 loff (RELAY)
THUS. AToK 100 mm
BToC 240 mm
D T0E 220 rmm
FloG 220 mm
NOTE : USE HEATSINK COMPOUND BETWEEN MATING
1C. MOUNTING SURFACES OF Q22,@23, R24, @25, Q41 ¥ Q42
AND THE RESFECTIVE HEATSINKS 900003
N°®WAYS| PART N° | N®OFF | USED To MOUNT A TORQUE OF O-5 Nm. SHOULD BE APPLIED TO
TIGHTEN COMPONENT FIXING .
8 G0S5059/A | g |MI-Ms Ml
E 14 GOS0GO/A | 1 MIO datr-m
16 |eososl/A| 2 M7,M8 ELECTRONICS
¢ |cosoee/a | I M9 i
NORWICH
DRAWN DATE DIMENSIONS IN TOLERANCES
s : e DECIMALTOR PITACES rdrnt MATERIAL ASSY DRG & Q 00. TITLE DRAWING No.
1.2.82 MILLIMETRES DECIMAL TO 1 PLACE % - 2, s
imm PARTS LIST | 000 POWER AMP (D.C)
CHECK DATE SCALE :‘:‘G’bﬁgME;‘DS'ONS 3 -4mm 4 . - 400449
+ CIRCUIT DIAGRAM o.
1638l - FINISH = S PCB. ASSY.
APPR. DATE 3 l UNLESS OTHERWISE STATED —————— CHECK PROCEDURE 460449
) 'H-w.w 23 H-82 |NOTTO BE SCALED FIRST ANGLE PROJECTION CHECK LIST 470449 SHEET | OF 21
T

8w

=



| [ 3 I 4 I 5 | 6 | 7 1ss|  cHANGES
DRAWING No. | |RELEASED 16 4.82
il 2|sE28y .. AP
3 | 8EE SHT 2.
4 |SEE SHTS. 2 4-4 S
|S |see sueeT. 2.
ECO IS18
R 47 AND RI48
G |aooen.
JA 12.8.63
i DC STABILISATION POWER AMPLIFIER s
g‘l‘o?w R8G TLF
1 22r
aly L l A% ;
+ISV
T*I7 c2s c2e ;
4rept 100 NF Rio8
p= Lid IR R8s |
R’
RIS 47nF RIO2 =1
il U X
| — Y J 24 » Q@39
Mo BCSSG
wATI4 ey +50v - D38
. & c40 IN40OS
Q4z 100 nF
RilG R94 > R9S R93 803% e
22k c52 10k G80oR 690R ———— ._____1
Jisv ATnF - ] P
R83 | | !
2A 2A 8css6 ._V;,?: | '”‘;';‘”' |
: Qas Q37 22k ! ]
Ds2 BC54G aCses | T |
c4o | oy oo | |
B 100pF s k10 a2 a3 |
lev =T R147 R148 =44 I
| 100R \oor R92 e 4ATar P8 |
| 2k2 | R R2 24
™3 | OR47 OR4T or47 |
y X |
AV it & b |
g 6‘3“ % ﬂ-ﬂlros Vv A |
pg s c B ITIVE HEATSINK ASSY[
from 36 PA DRIVE o872 1%, oarR v D, 10uF 35v @36 Q38 1 d o [foo4ss
SHT. 4 AAN T BC4I4 B4 J
i y s AR ur bk Lo .
FROM RIS3 I Lim Sl L b RI7 X o1 PA QUTPUT  To RL2
— sat3 P {1 RII4 Prrie Ik R49 PINS 7
FROM M@ PA kV 4T0R e Riz Ru2 " ORIS 110
S«"i 120R 12oR a 2-5w SHT.3.
Facha i “ESY ReF é e 24 2a v v Pt
—ﬁ RT2 2A 2a
SHT. 2 Ji- 9
| took OUTPUT CLAMP Ro7 Reo (et i = 1 :l
R73 > took 820R POSITIVE e
& ! | | HEATSINK AsSY |
E +15v F 400454 A
i ; o = SET i
| P26 ! R78
> ! 5
‘ | : B, , 2 Fiis Dy, =
| Ms 7 Q33 BCS4G ! IN4I48
C R74 l@e7 ! LM4izy Jios !
bl wies7 | o|l. & Ds3
| i —1 IN4 148 D42 K
SISV 28 R Ri2o w3 i R
! - o 100R 101
3,‘7 R 10k 47TR
k8 % E?:R i
i 2 TP2S  Reo D49 2/
* - e X 27k INSI4R bs4
) Ak LM&IZN ’ !_ INaI48 car [ R -
8:2 3 V a41 100nF
r__‘ S 80389
q Q3|
ERoNIM IS S YR, 28k Rios 42 | 8cses 28 R100
SHT.2 1% 120pF RIO3 4r7
R76 47R RI104
22k 28 T 39k
A l RS
g R7S .{_ .l. I
k8
' A Eﬂuu cis cig na
4700F - 100 nF
&3V
D %72A
-sov
<
28 |
- [
- |
Iy
o
g \
|
FROM Q43
. SHT. 4. 1
|
|
‘ | datron
ELECTRONICS
‘ LIMITED
| NORWICH
DRAWN DATE DIMENSIONS IN T——O‘-E;:;ai A 3 pUACES et MATERIAL ASSY DRG & | TITLE DRAWING No.
17.3.82 MILLIMETRSS DECIMAL TO 1 PLACE £ - 2mm PARTS LIST | 400443
WHOLE DIMENSIONS  + -4 ) 4000. POWER AMP (DC)
CHEGKER DAIE SCALE ANGULAR + %0 CIRCUIT DIAGRAM i
<R 21492 : Finisn ! DC. POWER AMPLIFIER 430449
APPR. DATE UNLESS OTHERWISE STATED CHECK PROCE “URE 460445
? tﬂa,,‘ 2\ -4 32 |NOTTOBESCALED|  FIRST ANGLE PROJECTION CHECK LIST 470442 SHEET | OF 5

eaw.

I
(7
|

a951MT




&

ss) CHANGES
4 5 6 1 7 i
DRAWING N : l 2 l 3 I l I | | RELEASED iG 4.82
0.
430449 +50V CURRENT LIMIT 2|s2 32
ECO (356
D21 R3T R37ANDR43
1S Y 18k 3 |WERE 12K.D21
AND D24 WERE.
1 30v.
Raz UR 5-7-82.
3 ECO.1368
C4/C9 DELETED
4 |cre/c73 Aobed
R37 R43 WeRe 22k
A IL. 23.8.82
D25 5 |eco 1498 RG was
+50V REGULATOR QI IN4I48 5KG. B-4-8> 83
MPsLcl I3 eco 1518
SeE SHEET I
_____ A
[:s/x HEATSINK |
| assy 4004ss
P2 1 I
4 T 538! @3 minoe !z ’ : . +sov
™Mo o
QU T cio |
|| 8, J9-1200-GY— w235 szour | Gl
Q7 S sw cia asv v
TRANSFORMER Rg& TCR510 Dig Le 65
PRIMARIES DI3 DI2 L 3mA o RIl 100+
SHOWN ON_INTERCONN. 3054 3054 IN4O 18k
PCB 430439 L2
20 RED'wNsz-s —;-2) S w20
e
é RI ' 1 R30 , r\vfza
i DR o] 72 12 +2-5V REF To R70
? 2m 30s4 3084 I ATOPF | S SHT. (
p B | , +i5v | R3| +ISv
o><o—l—~W\——— M 5 50V POWER SUPPLY SHUTDOWN
A
FI 4A L3 EIA |N4”l48
4uH Ta-4 TPIB 34 Mi ' '
Etgan ey 1 R22 m3se
MOTHER | 18OR 2] +I5v
[N pce Assr | | b
:g 430440 | | §7k §
N — . 9|
(e o O e R EoCR -t 93 )
' S i MP:
| lcov/" : - M?,'Lc.,\,i———' \lswl
1
] - IN&I48 D3 . : . <
e O R32 L L% 1ov A R3 Jg3:2
| 1koo l - ¥ Q5 4mRS, [ r—= -
| ce == | 1% bIs 35v v18s7 i) el 2c
| RI7 47+F ¢ ! HEATSINK |
: ‘ 4 Zn458 R2 > De I PCB ASSY
‘ bt \V/ 'Y IN4148 | 4c04ss |
| 2m e cl RG I s 1T RS )
L ! { 20 i ke | | Cod S0aes | P21
Js-2 4 — | i l . l ‘ ‘ | I ‘I:s-l ¥
,O — g ! ? ! T rs * ¥ o . Y
| cz
| R4 R4 RIS
b2 i 2”<7 Vem 120R 2epiasTe ke | I 100k cke R3s .
C L o0 — { R20 % ) ¢ S | i sl e
| 4k7 1% ;L ! { : ._._I_———o“"‘? St J9-43
i - ci7 l D4 t -
J4-1 | A—' 15V ?
T g © o b I 4 Ji7s
| MoTHER | 1 Dib oie | 3% 3
[ t R . mass | Q2 RS g AN 2n3904 R -
' 1R53 < | i - 39k B RS | NEGATIVE
122 L i QB e s ’___J 2Ns40! ! b ‘ ReRTN |
! Waw ™ 4700 | 2ns4ol LMar2 + | RiG aooect | Folie
; | L oot 1 T e 3 470R I ! MOTHER]
| ! ;3 1 Ik DI Ds R3 RS 1 PcB
L i cil R2! sl B INGI48 J54-85 T34-85 ) 430440
L e D—==mi=is 10nF 180R - ; |
4‘1207}5; LM359
IL B :
L1 ISy
TPIL %—4 R28
1okG 1 PSST__ 5 Jo-38
% -25V REF _  To R73
SHT. |
R27 l
12k
{ .
D !
Dis
QI8 » DI7
TCRS10 i IN4OOS % llzal(: Iooc;: IN4COS
R2s 3mA | n
?I 18k ! R23
I ORIS 25W
) S D .
. . : !
3351 @4 manois | 932
I | l Ra4 RaG 1t
1 PS[1 HEATSINK | RS2 4G ATuF
| asay 400488 | RN e ) '80R iSoR  év3
B T g QU4
L 2n5401 Qn
,._Kznum
-+ D27
=50V REGULATOR i INaI48
c23
3.3F
D24
R43 47
oy T datran
2 - ELECTRONICS
LIMITED
—50V CURRENT LIMIT | NORWICH
TOLERANCES TITLE DRAWING No.
DRAWN PATE e DEACIMAL TO 2 PLACES ¢+ “1mm MATERIAL assy DAG 400445
) 17.3. 82 MILLIMETRES DECIMAL TO 1 PLACE  + - 2mm _ PARTS LIST | 4000. POWER AMP (DC)
0 IONS 3 “4mr
C"$3KED DATE SCALE MCULAR sy o Erdmm CIRCUIT DIAGRAM +50V POWER SUPPLY 430449
A3.S.] 2343 TITEE FINISH CHECK PROCEDURE 460449
APPR. DATE UNLESS OTHERWISE STATED
3 %.«, 13-4 -$2 [NOTTOBESCALED [  FIRST ANGLE PROJECTION CHECK LI3T 470449 SHEET 2 OF 5 =
oy




209

! I 2 I 3
DRAWING No. I 4 [ 5 l 6 l 7 iss| CHANGES
430449 I |ReLEASED 164 82
P, PA_oFf B 2|80 =31 W
o HIGH VOLTAGE OUTP SEE.SHTS.
Q43 s T i UTPUT CURRENT LIMIT Stecearrs
40 mH 270R 4 |SEE SHTS. 2.4 15
e C60 RI34 5 |SEE =T 2
100aF ECO '518
PN | Ri2 ek — G|seE SHEET M
o B MO o 190k AT I ST " L
| CONSIANT cURRENT 30URCE ‘ 2&% —— A 0O J9-9!
A { | -5V
| : Bl s RI3S . RI33
150k 4Tk
s s i
: 2L g2 | S @ £l ale AA Ilm 1:33? @
i |,a:k | P
| b2 i | Mio L) Mio
| 12ov ¢ I McroiI3 D6S Mciol3
| Q | s = N4148
| 8F393 : e . aft M ek " o] LTV
I Q@2
il rl . Falt N | 4 10
. r o ‘; | D3 R3 8F393 |
| | 20y, 120k cel
| TRANSFORMER Yew ! e
| Assemsry | ! P R138 < P e
: 400457 l | D4 I 100k isv
! l eV ) I °
RI3:
! : s I +isv a S S
RIIS BF333 3sv 44
R ! ' Qs | | Bl . R140
Mew | 120V R4 > BFS93 | RIZS l\‘ 680R
| 120k 2 | 18R A%
¥ Yew
. | Yew
i | D& | L 8
] i ) | Li 2
" | i oo - |
7 | Qs I 4 © P67
| | 8ra93 | 2 9 3 c71 szysecio To 7o)
RLI I D7 Q6 15KV M
oL RS SF38s | = S L csa X %% 4.
° | 120k | "?"v 4TnF X e
| Yaw | RI42 szvescio
|oq ! %) | 3 Ve
I 1oV ¢
- | : 4 = Mit
| Q7 (o} I
| BF593 Qe I 2 RL3 s HCPL- 3700
| D9 RG BF333 I C’I
; | 120V 120k % | : -
ﬁ’ | Yew | RI37
FROM TLA PA. oureur l—_(03- | pio { 15k
Y. | et cm— | 120v F
’ 5 5 | | OUTPUT ce8
L2 I —t & ;t | FILTER 2u2F Lsv
C ‘-01'0 | - ! BF393 a0 | 3sv @
l > | 12ov RS R7 BF393 | 2@ ?,':'
| M 120k | ce2 co4 R
B | o2 Yew , s B2obF
: I oy : —"— ——"—
i ) | -l | DCroov 4 kY 3o o
! — | ce3 ™7 i ces |
! Qi 20pF YT R143
I ﬁ g | Y Y Y T " 'sol
ook 1 : Y - n DC OOV + IkV
! L £ TR ts _l. ™ T “AN 205 708
265
- | | ! | i cec 24-1mH alt
| | T 47 cer
| 1'SkV s
4
L1 sy 1 oL
0 cl RI | ZF:
100w == ik oo L
| ssv i S RIO | TVS505 Tvssos
47 |
De I %
IN4 148 ! I 1 I
B i 158 bI7 !
l i AL |
D i\ a3 '
TP3S
ey | R o JITS |
| Ik |
| |
e TR S - PSRRI ST
PN 2 _j Y
—
g w0 o
¥ 10
o css
Li2 47nF
N.C. IO/N
r Je
Ms 5
RI3O 2F 2F
T 18R
A ;;2: Vaw
Fco8toc
& J-: * -Isv
RI27
ELECTRONICS
OVERVOLTAGE e M
NORWICH
DETECTION DRAWN DATE DIMENSIONS IN TOLERANCES MATERIAL
! . DECIAL 1012 BUAC ASSY DRG & TITLE
17.3.82 MILLIMETRES pEaMALTO | PUACE. 1 Sam o e LisT } 400442 T
IMEN: “
%’:}g‘? DA;E 12 SCALE ANGULAR o e 2 Amm CIRCUIT DIAGRAM 4000, POWLR AMP (DC) 43044
S, e _ FINISH HIGH V 30 S
ﬁ%’PR. DATE g UNLESS OTHERWISE STATED _— CHECK PROCEDURE 460449 G OLTAGE OUTPUT
e 23.4-82 |NOTTOBESCALED [ FIRST ANGLE PROJECTION CHECK LIST
470449 SHEET 3 OF 5

4931




| /0
5 6 l 7 iss CHANGES
! L . L i I 4 I l | |RELEASED 16.4.82
DRAWING No. 2 ECO 1331
SEE SHEET S.
e = +isv VOLTAGE St o=
Y  CONTROLLED (|Eonet —
%5,5: AMPLIFIER o e a2
5 |see sueeT.2.
=
Hi 1
srren | % NB. Q26 RGG = KIT 239051 S
ca7
InSF
A 16kHz SQUARE TO SINE FILTER ”l (2370, 267R, 3012, 3402 )
, | % ReG
Cao  Rs® | i cz
c3l .
PYNERIECY) 4 == a7 P = :gVO//F
R <7 47pF
Rea L7 e e 20
Riz2 4k1s 1% 10mH 392r 1%, 1000 1% ~7 ™ ko
Hz (16) A 5 2\ S Qe
J9 -86 OmaSkizlls —AA A/\T‘WW\/\/ A% s X ey N P19 $3°
] M3 s AR 2204F
c32 " i - a
onF S 8 To R87
v T ) : / 5 .LI Ngg;u . T J.: e SHT-1
‘ 4 4K1s
Ro! % 1% 31 /
IN4I48 6BIR 1% 2H f ] 4
| 20\/
20223 i
|  pF 25v ca7
| 1‘ 47TnF 5527
B TP24 TLC %
¥ 45:65',’# 2H
J9-83 OuatCACTRL f¢ e Jisv
! P36
i Sye D40
|HSCHI00!
LB L
Vi
|
‘ 34 MAKE TLB, BREAK TLC
] 10OuF Re8 FOR MANUAL CONTROL..
Gir T 100R
| DECODING LOGIC Vo | COMMON INTERCONNECTIONS
| s, [ |
: oy |
[J9-95 & +15V (2) Y& POWER
i SUPPLY
i CAPACITORS
(MOTHER BOARD)
i TO p47 _ PA OFF B ok
! SHT 1 ‘ %z
C i 4 R38 SHT.3 [ T [ 58 “v
‘ MAINS | : ov() Jo-97
1J9-940 OFF RLZ TRANSFORMER z
H Sla 2 ov(z) O 19-98
ToJe | ~ Ri21 $ ov()
MOTHER TLH ! 22k ot ol H J9-99
Y | 14 15 L A e T e \hacicton it . - i RO [ @
< = * it Bcela ! o & oy J9-100
3 ! o | oA o sowlr [T\
: o Ri24 ! vollace POWER M) 5 je-101
i J9-89 O__PA OFF i M | IR, Sik SuePLY zo\/ ov@
! B O Laa= e v R77 " J9-102
: 26 w5y IkS 2/
] B
POSITIVE 5 [\4 3 {>c 14 '
Jo-48 Me TP27
O l/ g D37
; ‘ 7 sei-migs
J9-47 O—HY ENBL . v %s s {>C 2 ocl ;——-—nv
i 2G POWER
1 Ri2s Ri2e AMPLIFIER :—z,
™M M —
¢ NC & _| So—" _ne. M?F
D zr.v Jisv o i~ oy 1 \VZ
‘ R e momeR
| Jo-ss Dc st ! > % | 2
! 'I'RAN“SV MER | 430440
l L SECONDARY
-isv & z,v
wer TS0 o e |
{ RI23 ’
ak7
ov(e
| Jo-53 O BARK ’,l}’ 2 S : toajc ® 5 se-105
| x\/
2G ‘
4 D » L
Ne. — t—iNc. | ov(z,
Ve ® O Jo-107
| o . l' | w\/
| Yg Ds5 sy { ,
| 2 Ml _[C57 ; MZ HICH VOLTAC.E ovE) O J9-81
1
ATaF ouTPUT rmsn »\/ ov(2) g datr\m
2 LS J J i I AV ELECTRONICS
1K ‘ IMIT
J2-96 M ‘ ‘ ; 1 NLORVVEISH
= |
o DRAWN DATE DIMENSIONS IN TOLERANCES MATERIAL ASSY DRG & | 400449 | TTLE DRAWING No.
DT Tkl . 8.8 82 MILLIMETRES DECIMAL T0 3 PLACE” 5. o PARTS LIST| | i 4000. POWER AMP (DC)
Te WHOLE DIMENSIONS % -4 - -,
o R72 CHECKED DATE SCALE NGRS e CIRCUIT DIAGRAM FILTE ND 30449
G-R.8 | 234-m FINISH [
.
° oG
APPR DATE UNLESS OTHERWISE STATED CHECK PROTEDURE 46044 DECOD]NG L IC
2 ‘g... 23-4-¥2 |NOT TOBESCALED [ FIRST ANGLE PROJECTION CHECK LIST| 470449 SHEET 4 OF §

) e
Taw




o//

| | 2 | 3 | 4 | 5 [ 6 1SS.] CHANGES
DRAWING No. ALL BURRS TO BE REMOVED NOTES ! | RELEASED
e THIRD ANGLE PROJECTION FEv
DRAWN IN ACCORDANCE WITH BS 308 D7AND DS
FIRST USED ON 2 |weRE
- BZYB88C-I1s5v
JR 17.5.82
’ 3 [ SEE SHT 2
EcO.1375
A 4 |D7/D8 DELETED
+50v RI45/R14& ADOED
IL__ 23.8.82
5 |see sueET 2.
e o |[ECO 1S18
RI45 SEE SHEET
Ik2 ‘
22w
A +35V@) 5 79-115 )
% R3k_’>
10 D29
ew IN4 148
@23
1p23 : ) V TIP3IC
B RS% *
ToJo Ik Q2| Y D32 .\T
MOIHER  Jo.g2 OmioBOE 1P 1 A K 8DI39 55 s % TP33
430440 Bcg:&
D3s D30 B,
8zv.46 R54
* 2vo BzYﬁse S6R g TPI4
To Jo
- 1 IOV BUF O 79-84 L MoTHER
Pcs
0 430440
D34 D3| - 3
‘ % BzV4e BzvA& e
IVS: Ivs >
Qs
8cz14
C —x TP34
1 b~ Q22
1 5 TIP32C
D33 Ry
R34 INAI48
2k7
41
- R146
k2
| S Y “35v(2) G 5s-ue
i
TLD ‘
D
-sov
ELECTRONICS
LIMITED
NORWICH
‘ DRAWN DATE DIMENSIONS IN %TOZ B s o MATERIAL ASSY DRG & l POy TITLE | DRAWING No.
“imm
L 18.3.82 MILLIMETRES DECIMAL TO 1 PLAGE  + - 2mm e PARTS LIST | ‘
CHECKED DATE SCALE WHOLE,DIMENSIONS: £ 4mm 4p00. POWER AMP (DC'> 430449
ANGULAR + %0 CIRCUIT DIAGRAM |
J.RS. 23422 EINISH S lpV DC BUFFER AMP
APPR. DATE UNLESS OTHERWISE STATED P 46044 {
3 'blu.... 23 k-32 |NOT TO BE SCALED FIRST ANGLE PROJECTION CHECK LIST 470449 SHEET S OF 5
| A4951MT




Al /

1
| 2 I 3 4 5 ] 6 | 7 s CHANGES i
DRAWING No. | | RELEASED 17.3.82
ECO 1314 1324
400470 Eco 1373
z 1
3 |ECO 1441
P8 ¢ TPD ADDED.
I14+h FEB B3,
4 |eco 1968 1
A MOUNTED onN
BeAns. B]. B-4-8% 1
ECO 147G. €D VAWE
CHANGE WAS 110043
BED CS52 C7 ON PC.BWITH SILICONE LINKS TO BE MADE FROM TINNED 2 OFF 4 WAY 136 LOCKING RAMP . i‘"—soh“fgaa&
RUBBER COMPOUND 200004 . COPPER WIRE SLEEVED WITH 604042 JR (2-8-83. |
~ PTFE SLEEVING S8000% MOUNT ON UNDER SIDE . ECO 1522 ]
DI AND DZ WERE
20FF 2XTO220 HEATSINKS 9200920 6 |2o0010. PCB
20FF M3 X 6mm POZIPAN SCREW 611004 WAS 1SSUE. 3.
b A I15.9.83
20FF M3 X10mm POZIPAN SCREW 611006
4 OFF M3 SHAKEPROOF WASHER 613005 1
- 4OFF M3 HEX NUT 615002
2 OFF M3 FLAT STEEL WASHER 613007 :
USE M3X10mm ON Q3 AND Q4 WITH A
FLAT AND SHAKEPROOF WASHER
UNDER NUT o
~
B TEST PQOINTS TO BE MADE FROM 22 SWG
TINNED COPPER WIRE 540002
i (vPs 2 Ta) —— —_— TEST POINT TERMINAL
: 620007 T orr.
B
| OFF 4A FUSE 20mm 220128
| OFF PCB MT FUSE HOLDER 820126
=
ENSURE THAT THERE IS A GAP OF AT LEAST
| S.m BETWEEN HEATSINKS.
| OFF M3X6émm PCZIPAN SCREW 611004 =
I OFF M3 SHAKEPROOF WASHER 613005
| OFF M3 HEX NUT 65002 &
—1 /’FH‘QS AND Q4 WITH GOLD SIDE TO HEATSINK
_
—_ -
C | OFF & WAY DIL SOCKET 605059 ——
MOUNT R7 ON
STEATITE BERDS &
630024 4 OFF ‘)‘ P\'
i.-A
._( -
B
MOUNT C4 FLAT
TO THE P.C.B8 AS SHOWN. =
D MOUNT CIC UN THE BACK C A
PCB / ROS: RS, BED IN 3ILICONE A 8 5
RUBE R(9Co00) TeT
1 \\ 3
= y | \
D5
PCB 4(0179~-3A SLEEVE LEADS OF NOTE usE HEATSINK COMPOUND 2 OFF TO3 HEATSINK 820088
B c9 (520004) BETWEEN MATING SURACES OF 4 OFF M3 XIiOmm POZIPAN SCREW 611006
AND BED 'N Q3,4,526 AND THE HEATSINKS, 4 OFF M3 SHAKEPROOF WASHER 613005 g
MOUNT D5 ON STEATITE BEADS SILICOCNE RUBBER THEN USING A TORQJUE SCREW 9. OFF M3 HEX NUT 615002
G5Cc0 24 2oFF. (SOOOO+) DRIVER TIGHTEN TO TORQUE I OFF M3 FLAT STEEL WASHER 613007
OF O°S Nm. USE FLAT STEEL WASHER UNDER SCREW
(HEATSINK COMPOUND 9:0003) HEAD ON BACK OF PCB.
: dotron
ELECTRONICS ¢
LIMITED
NORWICH
DRAW, DATE DIMENSIONS IN %mzp i MATERIAL ASSY DRG & | o TITLE DRAWING No.
dé -1- &l 2PLACES + 1mm 400470
13-11- 8 MILLIMETRES DECIMAL TO 1 PLACE % - 2mm —— PARTS LIST | 4000 OUT GUARD
WHOLE DIMENSIONS  + -4mm
CHEC DATE SCALE ANGULAR + %0 - CIRCUIT DIAGRAM 43 0470 e
AR |w3e2| 5 Finisn POWER SUPPLY ASSY 400470
. . CHECK PROCEDURE 46 O4-7 O
APPR. DATE UNLESS OTHERWISE STATED
22 -3 - 32 | NOT TO BE SCALED FIRST ANGLE PROJECTION CHECK LIST 470470 SHEET | OF S

a9sImT




AR0

I | 2 | 4 I 5
7 ISS. CHANGES
DRAWING No I I ¢ | |RELEASE 2.82
ASED 17.3.
430470 ECO 1314, 1324
C! DELETED
RS wWAS 1K 24
21R6 WAS IKIg
MAINS R20.c9 aND
TRANSFORMER Sg p'\fl;ESEa)
BLUE JT3-1 DI 3osi D|GITAL MAIN SUPPLY TP 3 [eco1447. 14-3-85.
L TP& ¢ TP ADDED. Q
f A —— T +8v(UNREG,
[2) T+ -12 \
A 3A
TPS
Ri7 OR27
8-8v I'5A ’\i\/‘ T Q5 MJT2955
TR o l- TP7
Flaa R1 OR27 N &
< —\\/ T T =Sy T+ —1s
J3-3 , TPG
VIOLET o~ 2%w
O R18 OR27 T Ja4-le
& =l vV RS
2w 7R
— Qe |mMJ295s clo i
47n
8-8v I'S5A 1 ca280
BC 327 €9 100nF — FSVSENSE 0 g4-10
€280 .
LL] RS R4 R20
BLUE T3-2 D2 30s! , 39K2 I'3:] 220R
g W 4>’__ 11 7
o R3 IKO 3
A +
3 A cs Q2 Mi c+ | Ds
T 47004uF TIPaIA TR CA3140 I00NF == 5v
. » 6 2 16V
tév - TVs505
+ N Ro T D4 1c2
R2 37K+ 2vas | pF
Saa % [2)37 17 ZN458 3Sy
v
D
B8zyge IG COM SENSE O s+-o
R8 TP2
9 4+7R T
— DIG COM
—) T 4 —1
STAR POINT ble coM Ja-2
LED COM 0T4-3
PRIMARIES R7 TO T 20
SHOWN ON VABE650 MOTHER P.C.B
INTERCONNECTICON 430440
PCcB JI3-4 Lot (T4 -23 ALSO GOES
430432 O EARTH TO REAR PANEL
O T4-23 EARTH SCREW)
C
. o " +5 ED
&G )0 T4 - 21
| -
s R13 D7
ORANGE Sy LBOK. 180V
s Wi INS2798 RIS KO
w006 _ c7 Q4 1 ce
180v 4% mA IO pF MJIE340 [ 1onF
350v
¢ T3-7 D6 R 14
Sl
D 10 BzY88 Q3 TP3
RI16 220R MJE 340
A T -175v _/
¢ . —() T 4—19
\
|
=] LKA COMMON MODE NULL (0.G.)
|| WHITE J3-5 T |
" gy —
S
n |
R10 |
l?ok |
180v 5mA X Ri2 RISJIO0K. 7.~ €8 briddla ‘ oo To T4-27
2m V- ml O T4-27 Ps(1G) Pc.B
Rl i 4 kV 43045]
LKB 100k |
TPS =
\_ PINK ‘75;_\'9 T M 1%
‘ ” datron
ELECTRONICS
LIMITED
NORWICH
DRAWN DA7TE L DIMENSIONS IN T—%ED"::";E:LTMPLACES’ ) MATERIAL ASSY DRG & | aooas |TTLE DRAWING No
e C12- +1mm ~ o
8 MILLIMETRES DECIMAL TO 1 PLACE  + - 2mm =T PARTS LIST $ o 4000 POWER SUPPLY 430470
CHECKED DATE SCALE WHOLE DIMENSIONS  + -4mm {
ANGULAR + %0 R 43
fh.cocepn | (8-3 - &2 -7 IS CIRCUIT DIAGRAM os70 OUT GUARD
APPR. DATE UNLESS OTHERWISE STATED bl BHECK PROC%DURE “+50470
3 ‘ﬂu..u 22 ) #Z |NOT TO BE SCALED FIRST ANGLE PROJECTION CHECK LIST 470470 SHEET OF |
|
o

495 T




| /68

s

| I 2 | 3 ] 4 | 3 | 3 7 iss. CHANGES
DRAWING No. 8| s-&-e
430433 pirt T 1| 22th MaR 82
r Ji-13 0 DIO | TF27-1 7 8y RELEASED. 31
—0O ENABLE 2 -
pI02 ey SRANGE IC | ADDED . E¢D GG
Ji-7 O— O J27-2 (32 -1 O— O —0 BT, (HWAPRIL 8.
! D103 cAL/Run T3- ORANGE
Ji-e  O— —O 27-3 Fi-12 O— L/ Ron —0 *
olo »
Ti-4  O— a2 —Q T27- 4 o732
- b
EOTL J— NOT USE
A 72-10 O —0 J27- s e} 3
B DAV T4-
J2- 12 O- -0 J27- 6 T2-2 O EXT FREQ M1 O 4= BROWN 0 Ts53 -1
N NRED < REAR PANEL
Ji- 16 = = EXT FREQ Lo NT4-2 BLACK N
O —0O  327- 1 g2-3 O— —O— O Is3-2 ¢ unecTor
NDAC -
Ji-3a O — O J27- 8 Ti-15 O EXT RST RTA 3 L O Is3-3
IFC
1= _ J4-4 NOT USED
JITo 717 J-2 O —O J27- 9 o
F27To T8 J srq 1EEE 488
Ji- 1 .
MOTHER PCB O —O  727- 10 ADDRESS SELECTOR SWITCH
1 430440 . ATN
J2-13 OoO—— O 7T27- 1 T2-16 O ADD Sw_ | 0
o t———O J27-i2 | REAR PANEL sitosn |J2-8 O ADD Sw 2 )
L4 > IEEE 488
= 010 5 J2TO ! J
T4 O— —QO J27- 13 | coNNECTOR r\o‘r:m::;:aa J2-1 O— 20D w5 —0 Si
o ook Dios O JT27-14 430440 g2-6 O ADD Sw 4 0
DIO 7
Ti-5 O—— —0O T27-15 Tg2-5 O— ADD Sw 5 0 iy
DIO 8
B J2-9 O —O  T27-16 T2- 4 O—— LSTN oNLY e
REN
) ga-u O —Q J21-17
BUS Com
J2-14 O —0O J27-18 Ti-n O LYEAR O iyr
Lagz-1s ()———] ——O J21-19 +5v 52
J_ s0dy CALIBRATION
24‘9'#‘ - ) O 7271- 20 iINTERVAL
CER DisC
———O T27-21 Ti-t0 O 24 HouRs O 24hr
1 — (O T271-22
————C T27-23 L7i-9 e ExT FREQ LoCLK (O &) e
——O J271-24 J ¢$v’ 55%
l%O ON
C
-
1 t
} '
i i
N R - I
H 1 ) '
. POWER INPUT MODULE i e
1 ] * ' ]
: ' -] S S |
[ . N |
' 18 S & g i
: , g oz T IR g MAINS
m i Fi ! R ot Ty ' ' ] A A, BLack I7-6 Te-6 3 gen TRANSFORMER
" . 1 ] T \ 9, — '
' 3 A FOR 230V INPUT I FOWERISWIFCH ; : : : :
\ h LI -~ 1 !
6-25A FOR 15V INPUT A S S 1 [ I 1 1
' ) I5- T6— t T6-3 I5-3 Ye M & !
L BROWN R [ I P/‘V 1 Ye ELlow s I i '
— g
Ve Sy O e o= -O- —Of——— O -O— -O— ERER | :
' 1 1 L 1
{ : B : o , s ! . ! SECONDARIES
i ' 1 [ T : ' ' 1 [} [ I7-5 : SHOWN ©ON
| 1 ro ! f ! ! M [P R .3 3 | POWER SUPPLY
- - X ' i ! ] ' 1 ' T O =) 'pca's
| f 1 1 1 ' 1 1 I Ld 1 1
| f 1 ] 1 . I 1 ] 1 C . WHITE : 43045!
= 1 1 [} 1 ' 1 I 430470
D i ' ara I5-9 J6 -9 1 — J7-1 8- 1 §
D GREEN a#n)Yw ) | ' ' i [ ] | 1
EARTH Q; TQLLLIALRY : . T g i " 4 }V\b VIOLET. o F o O 5 ReD/ wHITE :
i 1 ' 1 t ' i 1 [ e 1 1 |
. e ——— | 1 I i 1 ] ) [ ' H
e 1 ] ' 1 ] 1 | 1
i | i g J7-8 Jg8-s8 '
e B CHASSIS ' ' f ' 1 v O] 1! o ANE omANGE I 1
: — - : EARTH 1 ' ] : 1 ] I T 1\ ‘Oh—o—— Hnsv 1
| ' i i 1 i 1 [} [l et Loy I £ 1
1 Ll 1 1 ] I 1 1
i ! 1
] ' I5- 5 T6-5 e e v MO ge-7 Ts5-7 ! i ! I7-3 8- 3 !
N BLUE swe ' 1 | areed SEB J ! ] i r. |Grer 4 sukex/wu 1
— Y Y Y ¢ TE
NEUTRALO——— S O O ' O T O —O—— i’j/;l & T —O- —O f EARTH SCREEN
\ 4 1 1 ' L [ 1
! ! S ' Ll | ' 1 '
- | ! H | VOLTAGE . .
: ! ' | SELECTOR PCB i § ‘ .
I ! § . mms e s '3 O gs-2
1 1
1 1 Q
————————————————————— O J6-2 7 r——o:rs—lo e O 8-+
O T6-4 —O J6- 11 FAN O v8-7 GT
O 76-6 —O T6-12 QO 57-2 | UsED
QO se-8 s —QO Is5-10 | Q31+ I | m
- |
E s~ i O I5-11 .
O7s-2 \ O 317 ELECTRONICS
O gs5-4 —O Ts-12 LIMITED
% NORWICH
O as-6 L DRAW DATE DIMENSIONS IN % LA, MATERIAL ASSY DRG & TITLE DRAWING No.
C)’& 30.7- 81| MILLIMETRES E t i 400433
- DECIMAL TO 1 PLACE % - 2 PARTS LIST 4304 9
Sl P — - e WHOLE DIMENSIONS £ 4mm 4000 INTERCONNECTION 3
iE e ANGULAR + %0 CIRCUIT DIAGRAM
T48. 2. 4. 8. FINISH PCB
R
APPR. DATE UNLESS OTHERWISE STATED SHECK PROCEBURE 460432
dume |2-4-62 |noTTOBESCALED FIRST ANGLE PROJECTION CHECK UST} 470439 SHEET | OF |
1




/7 T

DRAWING N : [ : I 3 s n [ 5 [ 6 15| CHANGES |
. ALL BURRS TO BE REMOVED NOTES s| 58 8
A THIRD ANGLE PROJECTION Aty b
DRAWN IN ACCORDANCE WITH BS 308 RELEASED /
FRsY UzEg oog SWITCH COVER
100047 2 OFF 3X 6 POZIPAN :
- DATRON PART NO 611004 —___ A
2 OFF M3 CRINKLE WASHER & i
A esoee |
REMOVE 2 off  FLOATING ——————— 4
BusHES FRom u27 : S —
BEFORE ASSEMBLY. ] e VP
' (L o
= b = —t+5
HIEH [it]
1 i
| ——se 1 ﬁ\ & 1
IOFF PCB DATRON PART NO 4-10167~3 : | off EARTH screeN
T TOP VIEW BOTTOM VIEW DATRON PART No 450296
e 5 o~ (] i /"L\ =
NOTE SOLDER i @ |\©) x@n O] A
STANDOFF TO PC.BT | : N Naet? Nugt ’
3 PosiTIONS ~ \\ ! * :
i ]
- . \ |
B ] 1
e ] g
\\\ —
T2
P i ol R B ~
L g - \\
ininlalnlaisisinisininial \ = = ',’ o=
N
I ° |oe -5 J27 \'s2,
|8 | ) o X ~ - /l
L—' = \\\ z'/
Bl G Lok Js .
1 ]
: S) : at ol
2 OFF M3X 4 e H 1
C 1 a D
STANDOFFS s ST L e a
2?::2: PART NO [N} al o] o
FITTED T™ UNDERSADE 3 & 8 5
OF PCB.
24hy 900y YR J8 J7
a ju] o] j——————— -
HImES o o o ' s2 ]
o a e e e -
52 =] D\ \ o o
- *‘ l” N | \\ ,/—\“ I,_‘\‘
‘\Q i e : \\\ ‘\©/ '\©,'
S TR N e A -— Rt
\\
# 20FF Guma CLEAR STANDOFFS 20FF M3X 6 STANDOFES \
DATRON PART NO 614003 DATRON PAKT NO 612008 REMOVE UNWANTED PINS
D
ELECTRONICS
LIMITED
NORWICH
DRAWN DATE DIMENSIONS IN TOLERANCES MATERIAL ASSY DRG & l TITLE DRAWING No
DECIMAL TO 2 PLACES + -1 .
JR. 24.7-8I. MILLIMETRES DECIMAL TO 1 PLACE ¥ - 2mm e PARTS LIST | 40042
CH DATE SCALE WHOLE DIMENSIONS  + ‘4mm J
29. 3 .82 o ANGHLARE .o CIRCUIT DIAGRAM 430439 4000 INTERCONNECTION PCB ASsY 400422
F L BARE i O CHECK PROCEDURE 40 0439
3 2.4.872 |NOTTOBESCALED [ THIRD ANGLE PROJECTION CHECK LIST 4704329 SHEET | oF 2

4951MT




/3

W

| 2 I 3 [ 4 T 5 | 6 | 7 Iss CHANGES
DRAWING No. c| 13-8-8
400455 PROCEDURE | |eaeasep 19w APR 82

) ASSEMBLE BOARD

ALIGN THE HOLES IN R5 AND Q7 HEATSINK WITH

THE T DR SN IRES POSITION ALL INSULATING BUSHED IN RESPECTIVE HOLES IN HEATSINK . THEN

3) PLACE PCB IN RECESS OF HEATBINK WITH CUT AMwWAY FLANGES. WITH BOARD PACING AS PROCEDURE l) START
1OFF PCB AT RIGNTHAND END ANO FIT Q4 TO REVERSL SIDE OF HEATSINK WITH SILPAD AS SHOWN

DATRON PART NO

410188~ <

v R
& -~ ¢

7 \ b

NOj 7= ¢} @~

DONT SOLDER Q4 IN PLACE YET.

4qofF TOd SiL PAD

Na G!Boob.\
\

\

DO NOT TIGHTEN
THE SCREWS

UNTIL ALL DEVICES
ARE IN PLACE.

*

\
¥ - ! -

I8

8OFF
DATRON PART NO 6i8008

INSULATING BUSKHES

ASSEMBLED P.C.B

20FF M3 HEX STEEL NUT
DATRON PART NO 6iSOO2

OFF M3 SHAKEPROOF WASHLR
DATRON PART NO 6130038

@ v
SOLDER ALL STANDOFFS iy
To PcB = m ( O) (O) 20FF M3 FLATOTREL WASHRR
R3 ~ DATRON PART NO 613007
| "
! L
| 1
[ Q @ ® i 1OFF HEATSINK
‘ \ | e DATRON PART NO +80a79
| I 4 oFF M3 x 20w~ PoOZI-PAN
! 8 ' Ne GIOZT.
8OFF M3X3 BTANDOFF TRANSISTOR HEATSINK MOUNT WITH FLAT DOWN 16 OFF HARWIN PINS
| MOUNT ON UNDERSIDE OF DATRON PART NO 920087 DATRON PART NO 620003
PC.B.
DATROM PART NO 612022
‘) WITH Q4 HOLDING THE BOARD IN POSITION, INSE®RT THE OTHER TRANSISTORS
16 OFF GOLD CRIMPS 2 OFF 9 WAY SOCKETS AS SHOWN,THEN USING A TORQUE SCREW DRIVER , TIGHTEN THE SCREWS
< OATRON PART NO 605077 DATRON PART NO 605100 TO A TORQUE OF O'5Nm.
r NOTE USE CRIMPING | ofF BUANKING * SOLDER ALL THE TRANSISTOR PINS TO THEPC.B. FINALLY TIGHTEN CABLE
r o CUPS | RS § Q7 HEATSINK.
- o TOOL NO HTR 2445A I1e L Eﬂ PLUS 6OGOIO. '
g *
J. -| 2 ~ ORANGE 175 mm
Y ® ® [ —= J-|® -GREEN 170 rm
,__ -14 - GREY 170 mm
/ fm -15 - VIOLET 170 mm
y.s /.-—: @ SYELLOW  225mm & &\
M 4c &C:E]‘ 7 -BLACK 195 mm \
c& NOTE SLEEVE 1 4
G - — WITH 500 mm @@\
LY OF CLEAR HEAT b
T \1: O] ® SHRINK o
DATRON PART NO 4OFF MJiXI16 POZIPAN
-
! | JI = — DATEON PAKT No GI!GI7
;‘ T dorF M3 SWAKEPROOF GIS005
| 2C—|-reD 1S QoF M3 FLAIN WASHER GROOT
1 /S x 3] |-BROWN  7I5 mm
T
L Tt N T p ]
8§ o 28 nm 5
B g o ; R <m o \ I
z [ & x 20FF CABLE CLIPS ‘
\ DATRON PART NO 630126 10FF 5 WAY SOCKET
Z) WIRE CABLE AS SHOWN ! DATRON PART NO 605099
NOTE THEZ FIRST CABLE IS HELD STRIP S5mm |
IN POSITION BY THE SECOND.
STRIP 4pmm
< »
p a g E J3 —
r g iw e — 1 [ e | ST
o}
C L T i [ — = 2 |- wHITE
4 — | wo——— R ] s— T ,
{ [ S o [ S ) 4T |-ORANGE 130 mm 4] doFF FLAT STEEL WASHER GI30CT.
= 2OFF SHAKEPRODF WASHER GIS005
R e[l M sC—|-8 s - ] /
T LG o N / 20FF M3 HEX STEEL NUT GI15002.
/\ = | GC—1|-BLACK 160 mm S/
@] e e - 9 T |- YELLOW 150 mm /
1 —= 1| sec—|re 145 /
AN /
\
— \ / /
—— o e et | /
N i o el e [ 1 V4
_____ 7
~—--t1--" /, | |
/. |
‘q | I
/1y 1
o ’ 1
| 1 T\ Fsaltal s r) I | e oot )
e s | R i ' ‘ ! !
TP Mo e I (I |
3 B2 S N ST S i I | : | NOTE MOUNT R3 ON 2
2 g - SLEEVE  JomTs WiITH Al - - = FLAT/STEEL WASHERS l !l l
x nom 1 = I
= z 10mm OF 530001. X | ) .
) S Y e | | ELECTRONICS
| LIMITED
E NORWICH
DRAWI DATE DIMENSIONS IN TOLERANCES MATERIAL ASSY DRG & | TITLE DRAWING No.
-7 DECIMAL TO 2 PLACES + ‘1mm 400455
dt‘( T~ 7= €| MILLIMETRES DECIMAL TO 1 PLACE + - 2mem PARTS LIST | 4000 POWER SUPPLY/ 400455
CH DATE SCALE WHOLE DIMENSIONS  + -4mm : 430449
,_%{9 2.4 ANGULAR + %o — CIRCUIT DIAGRAM } (30 2z CURRENT HEATSINK ASSY
4.3. FINISH
CHECK PROCEDURE 46045 %
APPR. DATE UNLESS OTHERWISE STATED
B lrﬂu.‘ 29 .4 -82 |NOTTO BE SCALED FIRST ANGLE PROJECTION CHECK LIST 470455 SHEET | OF 4

TosineT

F

—




438 HIGH VOLTAGE

83

The circuits described in this section perform the
following functions:
(1) Generate a 16kHz sine wave by band-pass
filtering a 16kHz squarewave from the Refer-
ence Divider Assembly

(2) Control the amplitude of the 16kHz sine wave
in a voltage-controlled amplifier, followed by
power amplification to drive a step-up HV
transformer.

(3) Rectify and filter the HV transformer secon-
dary voltage to provide DC voltages to the I+
terminal:

=200V to +200V on 100V Range
-1200V to +1200V on 1000V Range

(4) Sense the voltages at the output terminals (or
at the load in Remote Sense) :

(5) Attenuate the sensed voltage and compare
against the DC Reference Voltage in the
Error Amplifier, using the error voltage as
drive to the Voltage-Controlled Amplifier.

The circuits together form a negative-feedback loop which
refers the output DC voltage to the value of the DC Reference
Voltage, using AC drive transformation and DC sense
attenuation as means of achieving the required high voltage
outputs. This is illustrated in Fig. 4.33, which shows 100V
Range selected, positive output in remote sense with
output on.

In the main, the circuits are located on the Power
Amplifier (DC) Assembly. The Error Amplifier, VCA drive
circuitry, sense attenuator, overvoltage and overcurrent
detectors and output switching are located on the DC
PCB Assembly. Some of these circuits are common to the
Low Voltage DC functions.

48.1 General (Fig. 4.33)

AC transformation is carried out at 16kHz, derived
from M16 in the Analogue Interface 13-bit counter, and
transferred into guard as a square wave through opto-
coupler M3 on the Reference Divider pcb.

The square wave is filtered to provide a 16kHz
sine wave. The filter has high selectivity at 16kHz to
eliminate harmonic distortion.

The sine wave amplitude is controlled by the DC
loop-error drive in a Voltage-Controlled Amplifier (VCA),
and power-amplified to drive the step-up transformer
primary. Range switching is achieved by changing the step-
up ratio, both primary windings being connected in series
on the 100V Range.

A constant-current source acts as a shunt to
sustain the current drawn from the high-voltage secondary
winding through the bridge rectifier, and polarity is switched
with respect to common-2 via the LC-filtered * 15V
common-2 supplies. Positive polarity output is referred to
-15V at zero output, to provide an overlap with Negative
polarity output referred to +15V. The overlap allows
digital calibration constants to be used to align zero voltage
output in both polarities to the same calibrated zero.

The main output filter is placed in the output line.
This is a low-pass filter with a high rejection at 16kHz,
reducing the ripple voltage to within specification limits.

Shutdown of the high voltage power-circuitry
occurs when an output current of 30 — 40mA is detected
in the Current Limit circuitry. The output voltage is fed

out through the Range switch on the DC pcb, where it is
subject to Remote Sense and Output On/Off switching
and over voltage detection, before being passed to the I+
terminal by the same route as for low voltage ranges.
The external current is sunk into common-2 via the over-
current detector, which warns the control processor when
the output current exceeds approximately 28.5mA. On
100V and 1000V ranges the processor will switch the
output off on receipt of the overcurrent signal from either
the current limit circuit or the overcurrent detector.

The output voltage is sensed between the Hi
and Lo terminals. Lo is referred to Sense attenuator Lo
and DC Ref Lo. The Hi sense voltage is divided in the
Sense Attenuators by 10 (100V Range) or 60 (1000V
Range). The attenuated output is compared against DC
Ref Hi in the Error Amplifier, and modifies its output to
the 10V Buffer and VCA drive. The 10V Bootstrap, in
addition to supplying the Error Amplifier, also buffers
DC Ref Hi as reference for the VCA Drive circuit.

The error voltage between the buffered DC Ref
Hi and the 10V buffer output is conditioned by the VCA
drive to provide a suitable control signal for the VCA
itself.

The Sense loop thus stabilises the High Voltage
DC output to a value which on 100V range is 10 times the
DC Ref voltage and on 1000V range is 60 times the DC
Ref voltage. On 1000V range, the DC Ref voltage is scaled
digitally so that Full Scale of 20V corresponds to 1200V
on the OUTPUT display and at the output terminals.

+15V(2)
Square Voltage - Power Step-up Output
to Sine Controlled ATDSI(')f'e" Transformer Filters
Filter Amplifier v ‘
x ]
o— o [> | ’
Constant
Lgiikdine s, [ p |Current | x
A ] Source | Instrument
- 50V : ! Terminals
| Po[qr]fy Current
: l Limit I
:Imov Switch il
Range|
: 1000V
I
|

-15V(2)
V.CA £ smMo
Drive 2 ‘_' Canse
; % Attenuators
Lo ! Error 10V s
> 00k
Amplifier Buffer <>9

100k

FIG.4.33 100V AND 1000V RANGES —OUTPUT LOOPS

- |

Overvoltage
&Qvercurrent
etectors

v




84 v

|
4.8.2 SquareSine Filter (Circuit Diagram No. 430449 £
Sheet 4)

The 13-bit counter in the Analogue Interface
generates 16kHz at M16-14 (Circuit Diagram 430443

Sheet 2), which is transferred into guard through opto- M8 buffers apply the full 15V p-p squarewave to
isolator M3 on the Reference Divider (Circuit Diagram coupling capacitors C38 and C39. M3 input circuit is a -
430444 Sheet 4). The 16kHz square wave, switching 16kHz series-tuned filter. This, together with M3 active i
between logic-1 = OV and logic-0 = - 15V, enters the Power low-pass filter, produces a sine wave at TP15 of 0.6V to e
Amplifier pcb on J9-86. 0.8V pk-to-pk amplitude and approx 5% distortion.
Bl
il
4.8.3 Voltage Controlled Amplifier Il
& 1
The DC loop error voltage is applied from the (Q28, R68, R65) is provided for test purposes.
VCA drive to Q26 to control the input resistance to M4. M4 e g - —
Q26 and R66 are matched to standardise the gain range . Butpaeis, ACicoupled av drjyg 1o, 2ha Power |
i : . g amplifier. g1
\ (mid-range gain of approx 0.5). A manual gain adjustment
ol
g
i 484 Output Clamp (Circuit Diagram No. 430449
+15V(2) Sheet 1) 1
Square Voltage - Power Step-up . e than -0.4 26 ri i d i
toSine  Controlled Amplifier  Transformer When the CPU switches the Power Amplifier on Q;g stc;.rtfvt'o ZZn?ju::ltsesT:'n(; Cfgif_lzDz?,v?:du:’;'or;:n,
Filter Amplifier + 20V or off in 100V or 1000V ranges, it controls the 16kHz o h : Py J OR87e & : _
o drive to the high voltage power amplifier. For both ranges, Ir.e e h g t°. L :' ixtra|vo t? hrogAacross L : ‘
o—1I  ~O [> ' a signal PA OFF is provided at M15 pin 5 on the Reference _'gw\'/ts the negative half-cycles of the output at approx. &
16kHz | 7 J] I p Eﬂ?i?\?f X i ‘ Divider (Circuit Diagram No. 430444 Sheet 4) which is :
X | Source = Instrument “ buffered by M8/Q43 on the Power Amplifier (Circuit In similar fashion, D49 conducts on positive
-50v : Terminals ' Diagram No. 430449 Sheet 4), as PA OFF B signal. output half-cycles to start limiting at +6V and on 1000V
1 Polarity Current With output off, the Output Clamp circuit is range, pgsg{}ve and negative half-cycles start limiting a.
100V Switch Limit allowed to operate by D47 reverse bias. The * 2.5V Refer- CLiba b s
:’Range I+ ence from the 50V Power Supply is divided by R70/71/ This limiting action ensures that when the 4000 8
| 1000V L 73/74 to provide * 0.45V bias for M5 on 100V range. output is off, the PA output to the step-up transformer L
i -15V(2) Q27 conducts only when the CPU has selected 1000V is limited to less than 10V peak on 100V range, and less
| f] Tl range, reducing M5 bias to + 0.025V. than 3V peak on 1000V range. |
> 5 H L
;‘FA 2 5MO Ciresy Example of clamp action As the PA OFF B input is low (-15V) when &
rive iffnse : On 100V range, the bias on M5 pin 5 is ~0.45V. o;thputdwhor;p:n 1OOV_ or 10?0V rgnge, Q33 is pinched
Lo Error 10V %7 <4 e it I the_ PA output voltage is less negative than —5.95 volts, o, Al toe oulputis notclamped, Fl
Amplifier Buffer > 900k Overvolage M5 pin 6 is more positive than pin 5 and D46 is non- Q34 in the PA drive line is pinched-off by I LIM b
&Qvercurrent conducting due to -15V at TP26. If the PA output is at - 15V when the output Current Limit is activated (see
4 Detectors more negative than -5.95V, M5 pin 6 is more negative Section 4.8.9). 2
< 100k @ f
V | 485 Power Amplifier (Circuit Diagram No. 430449 A
Sheet 1) !
The Power Amplifi deal ith d D . . . ] .
FIG.4.33 100V AND 1000V RANGES —OUTPUT LOOPS R g three inversions in M6, Q38 and Q39. M6 is converted into
J ; output level at zero DC, whilst driving the step-up trans- an integrator by C48, so acts as a low-pass filter with unity g |

gain at around 15Hz. Q32, Q39 and Q42 shift the DC level L

and provide high driver gain into the output Darlington

amplifier. Q5 establishes the correct bias on Q24 to reduce

crossover distortion, compensating four output Vpe varia-

tions with temperature by being in thermal contact with

; ] e the positive heat sink. Q41 provides constant current

il C46 is the only DC blocking capacitor in the whole pull-down for the driver stage.

amplifier, so Q36 and Q35 form the AC preamplifier as e )

one half of an emitter-coupled cascode amplifier with Q29 and Q30 current limiters prevent damage in

Q38 and Q37. Q40 provides the constant current which the event of an output short circuit. .
[

former with a large enough voltage swing to provide DC
output voltages at the |+ terminal of 200V (100V range)
and 1200V (1kV range). The power delivered to the
transformer is sufficient to provide output loading for each
range of 26mA, with a little in reserve.

reduces common mode disturbances at Q37 collector. The d.c. output level is therefore referred t

The DC path through the power amplifier passes common-2 by R116 at M6 non-inverting input. et
through M6 and the Q38/Q37 half of the long-tailed pair. The AC loop also includes three inversions, so
The DC loop is self-zeroing at input and output due to its feedback controls both AC and DC to R96/(R87 + R88).




85

48.6 High Voltage Transformer and Rectifier (Circuit

Diagram No. 430449 Sheet 3)

Relay RL2 is energised permanently when the
watchdog BARK signal is low (-15V). The 16kHz PA
output passes via RL2 pins 7 and 10 to RL1 contacts
and to the High Voltage transformer.

When the watchdog BARK signal goes high (0V),
the drive is removed and the transformer primary is shorted
to common-2 as RL2 is de-energised.

RL1 is only energised on 1000V range with
switch ST ON (indicated by LED D37 lit on the PA (DC)
Assembly. On 100V range it is set as shown on the circuit
drawing, selecting both primaries in series for a step-up
ratio of 9.2. For 1000V range, RL1 connects the PA

output to only one primary winding (J6-1 to J64), a step
up ratio of 49.2.

These ratios generate secondary voltage outputs
sufficiently large to provide DC outputs from the instrument
of 200V (100V range) and 1200V (1000V range).

The rectifier bridge uses to series diodes in each
arm. Each diode is current-rated at 1A, with a p.i.v. of
15kV.

N.B. The transformer secondary, and bridge rectifier are not
directly referred to any common. This allows the rectifier
output to float so that it may be used for either polarity.

48.7 Constant-Current Source and Overvoltage Detector

Assembly (400472)

48.7.1 Constant-Current Source

Q1-12 form a series Darlington chain, connected
across the bridge rectifier output as a constant-current
source, having two functions:

(1) It provides a discharge path which is a
“constant” current at all output voltages,
of approx 1.2mA above 120V, rising to
7mA at OV.

(2) 1t maintains diode bridge D56-D63 conduction
in no-foad conditions. At higher voltages,
D14-D17 limit Q11 base voltage to +2.4V,
limiting the series current in R11 to 1.2mA,
with Q13 pinched off. At lower voltages
Q13 conducts, shunting R11 with 170-180
£ (R10 plus Q13 ‘On’ resistance which falls
to approx 125£2), and increasing the discharge
current to approx 7mA.

Note that the minimum voltage applied across the constant-
current source is 15V. Even at zero output voltage and
current, the diode bridge generates 15V to back off the
positive or negative 15V connected to RL3.

4.8.7.2 Overvoltage Detection

Zener diodes D1 — D13 form a series chain across
the High Voltage supply. When the voltage exceeds 1440V
this chain conducts, lifting D13 cathode and driving opto-
isolator M3. M9 emitter rises, and provides a ‘‘Reset”
logic-1 (QV) input to M10-10, resulting in a logic-0 (- 15V)
output from M10 — 13.

The operation of M10 and subsequent action is
described in section 4.8.9.

48.3 Polarity Switching and Ouput Filter
Double-pole
reversal. With RL3 de-energised as shown the output filter
is connected to rectifier negative, and +15V Common-2
supply is connected to rectifier positive. During zero
calibration, the +15V is backed off to give a true zero
output by an output from the rectifier.

When RL3 is energised by the POSITIVE signal
from the serial data-link parallel output registers at logic-1
(0V), the output filter is connected to the rectifier positive
rail, referred to -15V common-2 supply. Again, this =15V
is backed off to zero when calibrated.

Filtering is accomplished in three stages:

relay RL3 performs the polarity-

(1) L8, R128, C58, C59 2-pole filter attenuates
16kHz by approx 30dB and 32kHz by approx
42dB.

L9, L10 and associated capacitors form a
5-pole filter with elliptic characteristics,
attenuating by at least 60dB above 16kHz.

The final stage is formed by C1 on the Mother
PCB (Refer to Circuit Diagram 430440 Sheet
1) and the output resistance (approx 50082)
of the high voltage circuitry on the Power
Amplifier PCB (Circuit Diagram 430449
sheet 3). This gives attenuations of approx.
30dB at 16kHz and 36dB at 32kHz.

(2)

(3)

489  High Voltage Output Current Limit Detector
Section 4.7.10 describes over-current sensing
circuitry on the DC pcb Assembly, which provides LIM ST 1
signal when the output current exceeds approximately
28 5mA. It also generates HV STATUS signal when the
output voltage exceeds 130V.

In addition to these signals; the two high voltage
ranges are protected against over-voltage (see Section
4.8.7.2) and over-current on the Power Amplifier pcb
itself.




48.9.1 Over-Current Detector

An output current of approx. 35mA will cause
the output to be shutdown. Opto-isolator M11 is set to
respond to a threshold level of approximately 5.25V
across R143, causing conduction between pins 6 and 5.

4.8.9.2 Protection Logic

On Power-up, M10 settles into its stable state
with Q (pin 2) and Q (pin 13) both at logic-1 (0V). Both
sections have set and reset pins at logic-0 (-15V), and
PA OFF B signal at logic-1. Q44 is cut off, as also are
M9 and M11 output emitter-followers, holding M10 reset
(pin 10) at - 15V (logic-0).

By selecting Output On in 100 or 1000V range,
PA OFF B goes to logic-0. M10 is not clocked by the
negative edge, but Q44 is turned on, providing the supply
to M11, which remains cut-off unless overcurrent is
detected.

When an over-current is detected M11 Output
stage conducts, lifting pin 5 from —15V to approximately
-1V (logic-1 on M10 pin 10). The Q output of M10 (pin
13) is forced into reset state. HI | ST and | LIM fall to
logic-0 (-15V).

The 1 LIM signal switches off Q34 at the input
to the Power Amplifier (sheet 1), removing the 16kHz
drive, and reducing the output voltage to zero, thus
providing instantaneous shut-down. HI I ST signal is returned

via the serial data link to the CPU, which presents “‘Error
OL” on the MODE display and carries out the normal
Output OFF routine, disconnecting the external load,
reducing R143 current to zero, hence cutting off M11
Output stage. M10 pin 10 reverts to Logic-0, sensitising
the flip-flop to any positive clock-edge on pin 11.

At the same time, the PA OFF B signal rises to
Logic-1, cutting off Q44, and clocking the logic-1 on M10
pin 5 through to pin 1 (Q) so Q (pin 2) goes to logic-0.

Pin 4 rises on time constant C61 R135, and the
monostable times out after 8mS by forcing Reset state.
Pin 1 falls to logic-0 and rapidly sets pin 4 to logic-0,
sensitising the monostable to any positive clock-edge on
pin 3. Meanwhile, pin 2 has reverted to logic-1, clocking
the logic-1 on pin 9 through to pin 13, and returning
HI'1 ST and | LIM signals to their non-active logic-1 state.
The detector remains in this state until output is again
switched ON on 100V or 1000V range. The “Error OL"
presentation is retained until the user makes a further
Front Panel or Remote selection.

If the instrument is operating normally with
Output ON in 100V or 1000V range, and Output OFF is
selected, M10 monostable pin 2 again delivers its negative
8mS pulse to Pin 11 and the logic-1 at pin 9 is clocked in.
But as pin 13 is already at logic-1 this does not disturb

the HI I ST and | LIM signals.

4.8.10 Output Switching, Sense Attenuator and Guard
(Circuit Diagram No. 340445)

The high voltage output is taken from the Power
Amplifier to be Range-switched on the DC pcb (RL2 on
Circuit Diagram No. 430445 Sheet 1). On 100V or 1000V
the selected PHi voltage is Remote/Local and Output
ON/OFF switched before passing to the instrument output
|+ terminal. Any output current drawn by the external
load is returned via the |- terminal and the over-current
sensor to common-2 (Refer to section 4.7.10).

The external load Lo is connected directly to the
Lo terminal and hence to common-1 in the DC pcb. Load
Hi is returned via the Hi terminal to the head of a high-
voltage attenuator (R10, R27, R48, R66, R89, R96, R99
of circuit drawing 430445 Sheet 1), which is also referred
to common-1.

The attenuator is range-switched by RL3 between
1000V and 100V ranges. On 1000V range the attenuation
is 60:1, reducing Full Scale load voltage of 1200V to 20V
for comparison against the DC Ref Hi voltage. On 100V
range; R89, R96 and R99 divide the voltage by 10. The
attenuator and DC Ref Lo are both returned to common-1.

To guard the necessarily high-impedance attenuator
each connection between resistors is shielded. The potential
divider R8, R9, R25, R26, R46, R47, R64, R65, R88,
R95 and R98 connected between the Power Amplifier
output voltage and common-2 maintains each screen at the
potential of the connection it is shielding, to reduce leakage.
RL3 shorts part of the divider on 100V Range to equalise
potentials.

4.8.10.1 Model 4000A — 100V/1000V Precision Sense
Attenuator (Layout Drawing 400445 Sheet 1
and Circuit Diagram 430445 Sheet 1)

In the Model 4000A, the DC PCB is fitted with an
uprated 100V/1000V attenuator, to hold the specification
over a wider temperature range than the 4000:

(1) R10, R27, R46 and R48 (1M25) are replaced
by five TMO resistors.
(2) R89, R96 and R99 are replaced by one 900k/
100k unit.
The whole attenuator set is referenced as part no.
090057/A.

4.8.11 VCA Drive and Control

The attenuated sense signal is applied to the
inverting input of the Error Amplifier via RL11-10 and
RL9-14. This bootstrapped, high-gain amplifier compares
the sense signal with DC Ref Hi. When both are equal:
the output from the 10V buffer at TP5 star-point, the
bootstrap common BS2, DC Ref Hi and the sense signal
are all at the same level. Therefore the differential input
to M12 (VCA error amplifier) is zero at R42/R43.

The gain from M12-1 to I+ terminal is approx.
x2000 on the 1000V Range and approx. x400 on the
100V Range. Components R97, C33 at the Error Amplifier
input, and R33, C16 on M11 provide frequency compensa-
tion for the overall loop.

The second M12 stage acts as a polarity switch.
With OUTPUT ON + LED iit, the POSITIVE control signal
is at logic-1 (0V). Q2 conducts setting M12 non-inverting




input (pin 5) to zero volts, so the amplifier inverts the pin
6 input. If OUTPUT ON- LED is lit the POSITIVE signal
is at logic-0 (- 15V) cutting off Q2, M12 pin 5 follows the
pin 1 voltage, so the amplifier acts as a voltage follower.

87

The polarity switching is necessary to adapt the bi-polar
action of the error amplifier to the unipolar sensitivity
of the Voltage Controlled Amplifier.

4.8.11.1 VCA Action

If a user increases a positive OUTPUT display
value, the positive DC REF Hi voltage will increase, (a
demand to increase a positive output voltage). The polarity
switch inverts the positive input from M12-1. So M12-7
feeds a negative output to M11. This is inverted and fed,
via the Mother pcb, to D36 on the Power Amplifier
Assembly as an error signal (Circuit Diagram No. 430449
Sheet 4).

On the Power Amplifier Assembly; as the VCA
control signal becomes more positive the gain of M4 between
TP15 and TP19 is increased, thus increasing the output at
I+. The attenuated sense voltage rises to equallise the
differential inputs to the error amplifier, and the 1+ voltage
stabilises at its new value.

M4 has a maximum gain of x12 when TP24 is at
0V and a minimum gain of x0.01 when TP24 is at - 12V
or lower.

4.8.12 Decoding Logic (Circuit Diagram 430499 Sheet 4)

4.8.12.1 “PA OFF”

The PA OFF signai is originated by the CPU and
latched at M15 Q2 (pin 5) Serial/Parallel data converter
on the Reference Divider pcb (Circuit Diagram No. 430444
Sheet 4); as logic-1 (OV) for PA OFF, and logic-0 (-15V)
to provide the DC 100V/1kV drive from the Power
Amplifier Assembly. Under normal use test link TLJ is
made, but for test purposes link TLJ can be unsoldered,
and TLH made. PA OFF is buffered by M8 and Q43 as

PA OFF B, which has two functions:

(1) At logic-1 it allows the output clamp to
operate but at logic-0 removes the clamp
from the PA input. (Refer to Section 4.8 4).

(2) A 0-1 transition by PA OFFB clocks the
over-voltage and over-current detector M10
to reset. (Refer to Section 4.8.9).

4.8.12.2 “POSITIVE"”

The polarity of 100V and 1000V Range outputs
is determined by the CPU. In addition to changing the
polarity of the DC Ref Hi signal fed from the Reference
Divider into the DC Error Amplifier, the POSITIVE signal
performs polarity switching in the VCA drive (refer to
sections 4.6.11 and 4.8.11). On the Power Amplifier pcb
it energises RL3 when at logic-1 (0V), connecting the

positive rectified voltage from the HV transformer to the
Output Filter (Refer to Section 4.8.8). At logic-0 (-15V),
RL3 is de-energised, and the drive to the output filter is
negative.

The POSITIVE signal is latched at M31 Q1 (pin 4)
on the Reference Divider pcb serial/parallel data converter.
(Refer to Section 4.5.5). -

4.8.12.3 “HV ENBL"”

On 1000V Range, HV ENBL signa! is at logic-1
(OV) to energise RL1, whose contacts apply the P.A. output
to the single primary winding (J6-1 to J64) of the high
voltage transformer. (Refer to Section 4.8.6). The Output
Clamp circuit requires reduced reference voltages on this

range, so HV ENBL is buffered as PA 1kV signal and
applied to Q27 for this purpose (Refer to Section 4 .8.4).
Switch S1 on the PA pcb can be set to disable the 1kV
Range output by releasing RL1 and shorting the 16kHz
drive to the PA. When the switch isin the “‘Enable” position,
LED D37 lights as a visible warning.

4.8.12.4 “DC ST”

The DC ST line returns to the Reference Divider
pcb, (Circuit Diagram No.430444 Sheet 4), and is connected
there to M21 pin 5. An identical line from the DC pcb also
connects to M21 pin 5. Each line is pulled down to - 15V
through a 15k resistor. When both lines are correctly
connected, M21 pin 7 (TP17) is at logic-0 (-15V), input

to M22-13 Parallel/Serial data converter. The DC status
bit is read out of the SSDA “Receive” register by the
CPU on each data transfer. If at logic-0, DC function may
be selected by a user. If atlogic-1, the CPU inhibits selection.
The same method is used for AC ST, but as AC is not
fitted in the 4000, M224 will always be at logic-1.

4.8.12.5 “BARK"”

The Safety Monitor (Watchdog) produces the
BARK signal when the CPU or SSDA is functioning in-
correctly, and the SAFETY message is presented on the
MODE display. The BARK signal is normally at logic-0
(-15V) so that RL2 is energised, applying the PA output

to the HV transformer. When a failure trips the watchdog,
BARK goes to logic-1, de-energising RL2, which disconnects
the PA output and shorts the HV primary to common-2,
reducing the 4000 output voltage to zero. (Refer to Section
4.5.6 for information on the Safety Monitor).




88

4813 50V Power Supply (Circuit Drawing No. 430449
Sheet 2)

The power supply on the PA pcb provides + 50
volts regulated power for the Power Amplifier. It incorpor-
ates “Foldback” current limiting and “excess input voltage”’
limiting for both polarities. Overheating of the positive
or negative heatsink (PA Qutput stages)generates aTEMPST
signal to the CPU via the serial data link. Overheating
of the PS/I heatsink, failure of the * 15V supply or * 50V
output undervoltage; generates a PS ST signal to the CPU.

In both cases the CPU sets 4000 Output Off and displays
a FAIL message:

FAIL 1 — TEMP ST at Logic-0
FAIL7 —PSST at LogicO

When the power supply is operating normally, both signals
are at logic-1. The logic levels for these signals at TP3 and
TP22 are Logic-0 =-15V, Logic-1 =0V (common-2).

4.8.13.1 50V Supply Regulation

Power is input from the Line Transformer
secondaries, both fused at 4A. R1 provides an adjustment
to eliminate line frequency hum on the guard shields, in
conjunction with R52/C4 on the Mother pcb. (For adjust-
ment procedure refer to Section 5.7).

The secondaries are referred to common-2, and the
rectified outputs are smoothed by reservoir capacitors G2
and C3 at the rear of the Mother pcb.

The series regulation elements Q3 and Q4 are
mounted on the PS/I heatsink assembly. These Darlingtons
are driven by Q10 and Q9.

NB. The following description refers only to the
positive 50 Volt supply. The action in the negative

supply is similar.

Q17 generates constant current of 3mA to activate
D15 2.45V Zener diode. The +2.45V provides the positive
reference supply for the Output Clamp circuit (Refer to
Section 4.8.4.). It is also the reference for comparator
M2-2. The output voltage is sensed on the +50V rail and
divided down to Reference potential at M2-3. M2-1 output
drives Q6 whose collector voltage at TP18 controls Q3
(PS/I Heatsink) conduction via Q10. If the +50V rail
voltage falls due to loading, TP18 voltage rises, increasing
the conduction of Q3 to restore the output rail voltage.

4.8.13.2 50V Current Limit (Positive 50V only
described)

R24 is the series current detector, which drops
0.4V at 2.7A. Q19 generates a constant current of approxi-
mately 3mA which can be shared between Q12 and Q%
Q12 is saturated, generating approximately 200mV across
R39. With little or no load current passing through R24,
Q11 is off. When the current through R24 reaches approxi-
mately 2.7A, Q11 is switched on.

Q11 collector voltage rapidly falls below Q10
base voltage, D25 conducts and pulls Q10 base voltage

down, reducing Q3 conduction. This reduces the current
through R24, but with Q11 fully conducting, it is held
on by the voltage across R39. As a result, Q3 conduction
can fall to approximately 500mA, and with the overload
still present, the 50V rail voltage can fall to approximately
12.5V. This is a stable condition which persists until the
4000 is powered-down. As the voltage falls below +43V
the under-voltage detector is activated (Refer to Section
4.8.13.3).

4.8.13.3 Under-Voltage Detection

With the Power Supply operating normally, the
positive rail voltage lies between +49.5V and +52.2V.
M1-3 is held at approximately +2.85V, and as the +2.45V
Reference is connected to M1-2, D11 is reverse-biassed
by +15V at M1-1. (D11 anode is normally pulled to OV
by AN2 on the Reference Divider pcb — Refer to Circuit
Drawing No. 430444 Sheet 4).

When the rail voltage falls below approximately
+43V, M1-3 falls below +2.45V, and M1-1 changes polarity
to -15V, forward-biassing D11, and setting PS ST to
logic-0. This is detected by the CPU, which presents FAIL 7
on the MODE display and sets 4000 Output OFF.

4.8.13.4 50V Power Supply Shutdown

At normal operating temperatures, the PS/I
heatsink thermal detector has high resistance (approxi-
mately 100kS2). Q3 base is biassed by approximately
+1V from the junction of R13/R9, so Q3 is saturated,
holding approximately 150mV across R7 — R6, cutting
Q1 off. The same 150mV holds p-channel FET Q4 On,
which in turns holds Q2 cut off. D5 is unbiassed so PS ST
is at logic-1 (OV).

If either the +15V or -15V supply fails, the
voltage at Q3 base falls and cuts Q3 off. The clamp on
Q1 base is removed, and it draws collector-current through

R26, turning off the conduction in Q3 (PS/I heatsink).
In the negative supply, Q4 is cut off, and Q2 turns off
Q4 (PS/I heatsink) conduction. D5 is forward-biassed by
- 15V from the unregulated supply, clamped by D4, setting
PS ST to logic-0 (-15V).

If the PS/I heatsink overheats, the temperature is
detected by R3 (NTC thermistor). R3 resistance falls from
100k$) to 10092 (approximately) as its temperature rises
from 80°C to 90°C, reducing Q3 Vpe to approximately
200mV. Q3 cut-off initiates the power supply shutdown
as for loss of £15V supply.

4.8.13.5 PA Overheating

The Positive and Negative Heat Sink assemblies
house the Power Amplifier output transistors. Each assembly
is sensed by a NTC thermistor. These are connected in
parallel, in series with R35 across the —15V supply. If

either heatsink overheats, the TEMP ST signal changes
from logic-1 to logic-0, the CPU presents FAIL 1 on the
MODE display, and turns the 4000 Output OFF.




